[ Efficiency vs vertpos |
- 0.2

20.18F
‘g o
2 0.16F
O -
§0.14f
[ o
£0.12F
0.1
0.08F
0.06
0.04
0.02

1.4
1.2
!
0.8

Ratio

I r -.f
-E__“P'-- T :l
L4 e L LT
i + U

1072 107 1

+
.

G AN AR L LS K UL UL

10 0?
TP vertr (cr%)

—s— DOM MKFIT_TTorgnal
_mkFit_TTNEWnoMS-genMatch-CUT2

. DoMm
ici —— DQM_mkFit_TToriginal-106
Efficiend = pSM mkFit TTNEWMS-genMatch-CUT2

N 0.2
$0.18
(2] n
> 0.16F
>
g E
§0.14F
o L
£0.12F
o AME : : :
0.1 : 13 : : oo
0.08F---+4 ' : '
0.06]
0.04
0.02
lG-

[T |||.|||!|||||

Ratio
=

i HETHTAE : p il
=30 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
> E : : : : : : :

T N (5 RS UG S S U
= E : : : : : : :

7 0.16
20.14
2y

c0.12
0.1-
0.08F
0.06F
0.04F

0.02F

efticie

Ratio

Sim. PV z (cm)



	Contents
	Page 1


